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OsteE N E 200HneE B4 B2 ZAH 798,000
03 AlEE2HH| 2,000 1,000 1,000
O8N E 200HnEy B4 22 ZAH 2,000
el JIBAIE XA ZBAH 500,000 0 500,000
AEHI L 20| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
O =2 &elA JIBEAIE XHZA 500,000
StHel X &2l 200,000 50,000 150,000
401 AlEHIZL 2 0HY| 200,000 50,000 150,000
01 Al&H| 200,000 50,000 150,000
OS3tHe L AMNE2E RANES 200,000
2 e - =2H , 150,000 ,800,000 350,000
nE¥yUHAEA 100,000 100,000 0
401 Al HI L RO 100,000 100,000 0
01 A&l 100,000 100,000 0
OCtEN S 10 g FYUtMA S 100,000
ol Bastd A ,300,000 ,600,000 A 300,000
401 A& HI L 2 0HHI ,300,000 ,600,000 A 300,000
01 Al& H| ,297,000 ,596,000 A 299,000
OQlE: BdsEA A ,297,000
03 AlE 201 | 3,000 4,000 A 1,000
O BaisEtA I 3,000
b AAd L X2 100,000 100,000 0
401 AlEHIZL 2 0HY| 100,000 100,000 0
01 Al& H| 100,000 100,000 0
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